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2017 Analog IC Design Homework 1
1.

hwl

.protect

.lib 'cicOl8.1" TT

.unprotect

.temp 25

.option post

.param vd=1.8 vg=0 vss=0 vsg=0

M1 vdd vg vdd vdd p 18 W=10u L=0.2u m=2
M2 vdd vg vdd vdd p 18 W=20u L=0.2u m=1
M3 vdd vg vdd vdd p 18 W=2u L=2u m=1

Vdd vdd 0 vd
Vss vss 0 vss
Vg vg vss 'vd-vsg'

.dc vsg -1.8 1.8 0.001

.probe DC ctot=par("1x18(M1)")
.probe DC ctot=par("1x18(M2}")
.probe DC ctot=par("1x18(M3)")

.end

(@) W/L=10*2um/0.2um, VG =0V ~ 3.6V
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(b) W/L =20um/0.2um, VG =0V ~ 3.6V

vsa(volt) (lin)
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() W/L=2um/2um, VG =0V ~ 3.6V
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2. (a)

hwl 2

.protect

.l1b 'cicOl8.1" TT

.unprotect

.temp 25

.option post

.param W=20u L=0.2u vd=1.8 in=0.527

M1 vout vin wvss vss n_18|W=10u L=0.2u m=1

vdd vdd 0 wvd
vss vss 0 0
vin vin 0 1n
Rd vdd vout 15k

.dc 1n 0 1.8 0.001
Ef v(vout) vin

.end

Aok ok small-signal transfer characteristics
v(vout)/vin = -9.9464 '
—rrrteresTrreTTe—Tt T = .

output resistance at v(vout) = 10.0666k

W=10um, L=0.2um, m=1,
operating point: input DC voltage = 0.527V, output DC voltage = 0.9V,
| AC gain|=9.9464 > 8
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" X:552m Y:10.8

“~ X:508m Y:8.91

linear range:
Vin: 508mV~552mV, AVin = 44mV
Vout: 643mV~1.08V, AVout = 437mV

(c)

ok small-signal transfer characteristics

vivout)/vin

output resistance at v(vout)

-12.5127 '
r.oooe

9.0944k

W=10um, L=0.2um, m=10,
operating point: input DC voltage = 0.412V, output DC voltage = 0.9V,
|AC gain|=12.5127>8
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“w X:397m Y:1.08

linear range:
Vin: 397mV~427mV, AVin = 30mV
Vout: 702mV~1.08V, AVout = 378mV

(d)v“ # s SR @7 128 T c hgain b dagain < 0 B —‘ﬁ £ Vout range £ 7

5 mE _beVinrange § & 0 @ ¥ b ¢saturation region » £ & Vin 53 ~ pF
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fa4¥ a4F 4p IF 57 DC output voltage (Vdd-Id*Rd) » Vin & JE %] » #7012 c vt b
% i& » saturation region - & ¥ J< ]t 7 J1AVout/AVin ¢ (12.6) > b (9.93) -
4 _F 5 gain ¥+ > #712 Vout/Vin hw AL F % < > Vin - Vout £ linear
range » % F o



103061119 T #% % M s

hwl 3

.protect

.1lib 'cicOl8.1" TT

.unprotect

.temp 25

.option post

.param W=20u L=0.2u vd=1.8 1in=0.5274 vgs=0 vss=0

M1 vd vg vss vss n 18 W=5u L=0.2u m=1
M2 vd vg vss vss n_ 18 W=bu L=2u m=1

vdd vdd 0 vd

vss vss 0 0

vin vin 0 1n

Rd vdd vout 15k

vg vg Vvss 'vgstvss'
vds vd vss 0

.dc vds 0 1.8 0.001 sweep vgs 0 1.8 0.3
.probe dc I(M1)
.probe dc I(M2)

.end

(1) Short-channel deivce: W/L = 5um/0.2um
(- smd F T TiRA 5 Vgs=1.8,1.5,1.2,0.9,0.6,0.3,0V)
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(2) Long-channel device: W/L = 5um/2um
= iEd Mmd P I TiRAE A Vgs=1.8,1.5,1.2,0.9,0.6,0.3,0V)
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